BEH

—[RFNEE

EATEAHAT) 7 D2 I1ZH1T5

KRBT HH U TYVTHREIZONT (A/KA -HEKER)

BA{iI:Bg/L
MBAORES | gaomkis CHEKER ., Bk
K smigiy | BREGEHAT | ooy | SRBLXER
(HEKE&EH O fi) -t AR E= 2 EE — e
— (C-2-1) (C-0) s
(T-2) (B-0-1)
RE R 7H25H 7H25H 7H25H
ERER BRI 7:35 7:17 7:10
Cs-134($924) ND(1.0) ND(1.7) ND(2.5)
Cs—137($9304) ND(1.2) ND(1.9) ND(2.9)
£ ND(17) ND(14) ND(4.6)
11 ~4SHBOKO NS ERIFI330m it & (T-2)
7¥2:201552 A 22 H OERAEHKBIHREAZHRABLEICHEL. E=R) O J5RIEDT=HIZEM,
FES AV ITYT ADBKBEOTAE R
*BIEMRNDER LI —1&58ET,
*NDIFEHBRRERFEERL. ( )NICKRHEEREEZRT .
<BESHELRETCORGIE p— B
¥
AIRUK O 567 ik YIECHIK R CHEKEE
Bk B O 1FE) 35mi O EPEEET
(T-2) (c-2-1) (c-0)
Cs-134($924) 35 [11/9) 5.9 <8/11> 20 <2/15> 4
Cs-137 (#J304F) 8.1 [9/15,11/9) 23 [7/16] 51 <2/15> i L
e ND 110 <10/7> 120 <2/15> et X
U HEE D
BHEKER <7l
mmEnA® | shpvcsmmg | (GEAEO
-0 p)
Cs—134($924) 4.2[3/4] 110 <5/1> 450 [10/4]
Cs—137($9304F) 17[7/16] 280 <5/1> 990 [10/4] i
Y] 81[3/10] 380 [9/2) 15,000 (10/2)
*71vaRIE, FEORIMEZETRYT . [ 11F2013F. < )F20144F, [ 11%20154, , -
N = \

<% & & #>
2015 7H26H

EREABA=4
Bi{i:Bg/L
AU EIE
(C#abkﬁﬁa)
SR A=N:-0))
(X-1)
REA 7H25H
BREREFZ 7:07
Cs—134($924) ND(17)
Cs-137 (#9304F) 46
28 67
3 e “:
> | ERARO TR |
= | (HERBBOTE |

e nREETS -y K -

__________________

I
15
&
op

Zi
I]1
=

-1 M1 30 HENERRER(E
141, WESEET TAL). OHETkES

’\fD.‘;m.nl_ﬁ| JELlER A

(7] r- £

i g S
NS o (R

- u;nm-;m AFEIA 12ERE

_______________

_______________

_______________

4

X,élﬁi“ﬁ g2l Iﬂ*%itl TEE



